Remember To:

. partition the 2d number

@ Halving With Pim
- half the tens

| can halve any 2d number + half the units
- put them back together again

U Half of 56 is 2) Half of 98 is
>) Half of 74 is 2 Half of 42is
> Half of 66 is *) Half of 28 is
Z Half of 85 is =) Half 99 of is
>} Half of 34 is =~ Half 90 of is

Setl




Remember To:

. partition the 2d number

@ Halving With Pim
- half the tens

| can halve any 2d number + half the units
- put them back together again

U Half of 56 is 28 2) Half of 98 is 49
>) Half of 74 is 37 > Half of 42is 21
=) Half of 66 is 33 *) Half of 28 is 14
Z Half of 85 is 42.5 =) Half 99 of is 49.5
) Half of 34 is 17 <~ Half 90 of is 45

Setl



